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Factorisation - Lesson 7

Factorising a Difference of Two Squares
(All Types)

LT
e Factorise expressions of the form Cx* - Dy °

sC

e Numerical factors.

e Square roots.
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x> -y = (x +y)(x -y)

A°x® - B%y* = (Ax + By)Ax - By)




Factorising a Difference of 2 Squares (All Types).notebook August 29, 2017

Example 1

X% - 16

(x + 4)(x - 4)

Mar 3-09:29
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Example 2

64 - p*
8 + r)(8 - r)

Mar 3-09:29
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1. x2 —16 2. y* —49 3. 2% —81
4. p? —64 5. ¢ —36 6. ¥ —4

7. a®> —100 8. b> —144 9, o= = 131
10. m?* —400 11. n* —900 12. u* —2500
13. v2 — 1600 14. x> —3600 15. y* —225
16. z> — 625 17 u¥ =5 18 —3

19. ¢* —5: 20. m* — <, 21. n* — 15
22w —5 23. P —5 24. r* —
25. 5% — 5 26. 9 —a* 27. 25— b?
28. 16—¢” 29. 4—d° 30. 64 —m?
31. 36 —n? 2. 81— 33. 1—4?
34. 100 —r 35. 144 —5? 36. 121 — 172
37. 900 —x* 38. 400 — y* 39. 1600 —z*
40. 2500 — a? 41. 6400 — b* 42. 4900 — c?
43. 225 —d° 44. ;. —u? 45. o5 —V?
46. 5 —m? 47. & —n® 48, ; —x*
49. 5= —»? §0. 743 —3°

Mar 3-09:34
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. Pt —646+8)p-8

. a% — 100 (a + 10)(a - 10)
. m* —400(m + 20)m - 20) 11.
. v2 — 1600 + 40)(v - 40) 14.

. 22 —625(z + 25)(z - 25)

e 51-5 (c + 1/5)(c - 1/5)

< S Y _
L u 36(u+1/6)(u 1/6)

.16 —c*4+a6-o

. 36 — n%6 +n)6 - n)

. 100 — 20 + n(o0 - r)

. 900 — x%30 + x)(30 - x)
. 2500 — @50 + a)(50 - a)

. 225 —d?a5 + d)15 - d)
*9

oé‘a_-_'

x2 —16Kx+4)x-4) z
5.
8.

17.
20.
23.

26.

29.
32.
35.
38.
41.

44.
47.
50.

g2 — El?; (s + 1/7)(s - 1/7)

L 23 + my/3 - m)

L 26 +y)we -y)

b
25 U (1/5 + u)(1/5 - u)

Answers

y2 —490 + Ny -7) 3.
q* — 36(q+6)q-6) 6.
b — 1440k +12)0b-12) 9.
n* — 900 +30)n-30) 12.
x2 — 3600(x + 60)(x - 60) 15.

18.
m? — &(m + 174(m - v/4) 21.
24.

7.

30.
33.
-36.
39.
6400 — %80 + b)(80 - b) 42.

45.
48.

al — -‘li(a +1/2)(a - 1/2)

- S | _
Vv 64(v + 1/8)(v - 1/8)

9 —g%B +a)3 -a)

4 —d?%@ +dz-d

81 — p2 +p)9 - p)
144 — s%12 + s)12 - 5)
400 — y%420 + y)(20 - y)

1

-

e — N4+ n)(1/4 - )

T3 — 22012 + (/12 - 2)

z2 — 81z +9)z-9)

P —4+2r-2)

¢? — 121(c + 11)(c - 11)
u? — 2500(u + 50)(u - 50)
y2 — 225 + 15)y - 15)
2 — %(b +1/3)(b - 1/3)

» S _
n (0 + 1/10)(n - 1/10)
2 — L 1/9)r-1/9)
81

25 — 2B + b)5-b)

64 — m%s + m)8 - m)

1 —q%*t+qu-9

121 — 2@+ vt - 1)
1600 — z%40 + 2)(40 - 2)
4900 — %70 + ¢)(70 - ¢)
s

&
4

— p%1/10 + v)(1/10 - v)

x21/2 + x)(1/2 - %)

Mar 3-09:34
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Example 3

16 x2 - 25y?=

(4x + by)(4x - by)

Mar 3-09:29
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Example 4

64n2 - 121p2
8n + 11p)(8n - 11p)

Mar 3-09:29
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1) 4x2% - y? 17) 9v2 - 484m2 33) H? - 1/4e?

2) p2 - 81D2 18) 900y? - 49K? 34) 1/9U% - w?

3) 9L? - b? 19) 16 g2 - 225R?  35) 4b? - 1/16 D ?

4) r? - 144 A% 20) 324F% - 25T? 36) 1/36e? - 251I°

5) 16 T2 - m?2 21) 4X2 - 289w? 37)121C% - 1/25a?

6) w? - 100K? 22) 361P% - 64s° 38) 1/100h? - 144 X *?
7) 121L% - e? 23) 25j% - 256 E®  39) 289v2 - 1/81M?
8) r® - 169 A% 24) 400a% - 9u?®  40) 1/2255% - 16p?
9) 36 F2 - s? 25) 25¢c? - 196 N? 41) 1/81i% - 1/100d ?
10) Q2 - 6462 26) 169R2 - 8162 42) 1/100z2% - 100 f 2
11) 499h2 - c2? 27) 64K? - 289B? 43) 1/400j% - 1/9L°?

12) w? - 196 x2 28) 121U2 - 25 A2 44) 1/16r° - 1/81B°*
13) 400x % - j2 29) 49F2% - 900h? 45) 9/121A% - 196 k?
14) S2 - 441v2 30) 4w? - 529G?% 46) 9/25 Q2 - 1/81n?
15) 324B? - a® 31) 1600J2 - 9R? 47) 44112 - 36/25y?
16) n? - 256 H232) 81b% - 2500 M?48) T2 - 36100¢g°

Jun 12-12:16
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Answers

2)(p - 9D)(p + 9D) 18)(30y - 7K)(30y + 7K)
3)BL-b)(BL +b) 19)(4g - 15R)(4g + 15R)
4)(r - 12A)(r + 12A)20)(18F - B5T)(18F + 57T)
5M@T-m@T +m) 21)2X - 17w)(2X + 17 w)
6)(w - 10K)(w + 10K)22) (19P - 8s)(19P + 85s)
7)(11L - e)(11L + e) 23)(Bj - 16E)(Bj + 16 E)
8)(r - 13A)(r + 13 A) 24)(20a - 3u)(20a + 3u)
NBF -5s)(6F +s) 25 (Bc -14N)(Bc + 14N)
10)(Q - 86)(Q + 86) 26)(13R - 96G)(13R + 96)
1)(7h - O)(7Th + ¢) 27)(8BK - 17B)(8K + 17 B)
12)(w - 14x)(w + 14x)28) (11U - BA)(1U + 5 A)
13)(20x - j)(20x + j) 29)(7F - 30h)(7F + 30h)

15) (18 B - a)(18 B + a) 31)(40J - 3)(40J + 3R)

DEx-yY@x +y) 17)Bv-22m)(3v + 22m) 33)(H - 1/2e)(H + 1/2¢)

34)(1/3U - w)(1/3U + w)
35)(2b - 1/4D)(2b + 1/4 D)
36)(1/6e - 5I)(1/6e + 5I)
37)(11 € - 1/5a)(11C + 1/5q)
38)(1/10h - 12X)(1/10h + 12 X)
39)(17v - 1/9M)(I7 v + 1/9 M)
40)(1/15 5 - 4p)(1/15S + 4p)
41)(1/9i - 1/10d) (1/9 i + 1/10 d)
42)(1/10 z - 10 f) (1/10 z + 10 f)
43)(1/20 j- 1/3L)(1/20j + 1/3L)
44)(1/4r - 1/9B) (1/4r + 1/9B)
45) (3/11A- 14K) (3/11 A + 14Kk)

14) (S - 21v)(S + 21v) 30)(2w - 236) (2w + 236)46)(3/5Q- 1/9n)(3/5Q + 1/9n)

47)(21I- 6/5y) (21T + 6/5Yy)

16)(n - 16 H)(n + 16 H)32)(9b - B0M)(9b + 50 M)48) (T - 190g) (T + 1909)

Jun 12-12:16
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Example 5

8 x° - 18
2(4x° - 9)

2(2x + 3)(2x - 3)

Mar 3-09:29

11



Factorising a Difference of 2 Squares (All Types).notebook

August 29, 2017

Example 6

3x° - 48y°
3(x% - 16y°9)

3(x + 4y)(x - 4vy)

Mar 3-09:29
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)3x%-3y?% |7)12y? - 108D? [13) % T?- &L?
2)2x%-B50M?|8)6S2-54x? [14) % f2- &P?
3)4B%-36n2 |9)18z% - 32R? [15) #d%- & X?
4)5E% - 45¢c2% [10)27 A2 - 243 wi|16) % V2 - #5b 2

5)12p° - 75v°|[11)B0u® - 162C% 17) 7% N® - g5 e?

6)99g° - 44F?%[12)32 Q% - 200a?|18) #5sA% - #F*

Jun 18-11:45
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Answers

D3(x + y)x - y) 10)3(3A + 9w)(3A - 9w)
2)2(x + BM)(X - B M) 11Y2Bu + 9C)(bu - 90)
3)4(B + 3n)(B - 3n) 12)8(2Q + 5a)(2Q - 5a)
4)5(E + 3¢c)E - 3¢) 13) 2 (=T +4L)(<-T-1L)
5)3(2p + 5Vv)2p - Bv) 14)3(wf +5p)l=f-+5p)

6)11(3g + 2F)3g - 2F)15)5(3d + +X)(=d - i X)
7)12(y + 3D)y - 3D) 16)7(&V +3b)(&V-<b)
8)6(S + 3x)(S - 3x) IN17(xN+Fe)zxzN-%e)
N2Bz + 4R)3z - 4R) 18)21(HA +=F)&HA - <F)

Jan 22-20:08
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